SO GIAO DUC VA PAO TAO  KIEM TRA PANH GIA GIUA Kl IT (NAM HQC: 2022 — 2023)

THANH PHO HO CHI MINH Moén: TIENG ANH — Kh(‘)i; 11 ‘
TRUONG THPT GIA DINH Thoi gian lam bai: 60 phut, khong ké thoi gian phat de
DE QHINH THUC .
(Dé ¢6 04 trang) MA BE: 921

A. MULTIPLE CHOICE:
I. PHONETICS: Choose the word whose underlined part is pronounced differently from the others

Cau 1: A. survive B. subscribe C. facsimile D. provide
Cau 2: A. influenced B. endangered C. decreased D. established
Cau 3: A. document B. spacious C. courteous D. coexist

I1. STRESS: Choose the word which has stress pattern different from the others
Cau 4: A. reference B. decision C. refusal D. important

Cau 5: A. apply B. persuade C. reduce D. offer

I11. WORD CHOICE & SPEAKING
Cau 6: The Earth will be a planet where human beings, animals and plants live in peaceful

A. coexistence B. corporation C. coordination D. cooperation
Cau 7: The hotel staff are always friendly and courteous.
A. efficient B. polite C. helpful D. perfect

Cau 8: X: - “Jane bought a new dress this morning.”  Y:-“..................o..l. ”.

A. What a coincidence! So did I.

B. She is really conscientious, isn’t she?

C. So did she? Congratulations!

D. What a pity! [ hoped she would change her mind.”

Cau 9: The factory was fined for chemicals into the river.

A. exposing B. decreasing C. producing D. discharging
Cau 10: is someone who works from home on computer and communicates with their office by
telephone, fax, or e-mail.

A. Telemarketer B. Telephonist

C. Telecomputer D. Telecommuter
Céau 11: We to several sports channels on television.

A. deliver B. notify C. subscribe D. offer
Cau 12: We continue to rainforests and increase the dangers of global warming.

A. cut off B. cut out C.cutin D. cut down
Cau 13: Oil spills are having a devastating effect on coral reefs in the ocean.

A. detectable B. disastrous C. significant D. powerful
Cau 14: energy sources include water and wind power.

A. Environmental friendly B. Friendly environmental

C. Friendly environment D. Environmentally friendly
Cau 15: Mark: -« ” Helen: “Oh, thank you. I just got it yesterday.”

A. When have you got this beautiful dress?

B. What a beautiful dress you have on!

C. How a beautiful dress you’re wearing!

D. You’ve just bought this beautiful dress, haven’t you?

Cau 16: A nuclear reactor releases which is dangerous to the environment.
A. heat B. energy
C. carbon dioxide D. radiation
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Cau 17: Efforts have been made to clean the environment.

A.on B. of C.up D.in
IV. GRAMMAR
Cau 18: There are over 2,000 varieties of snake, are harmless to humans.
A. which most B. most of them
C. most of which D. mostly they
Cau 19: The pollution they were talking is getting worse.
A. which B. about which C. whom D. that
Cau 20: After having a bath, he......his supper.
A. ate B. has eaten C. have eaten D. was eating
Céau 21: Arizona, to be a useless desert, is today a rapidly growing industrial and agricultural
state.
A. being once thought B. to be once thought
C. once thought D. once thinking
Cau 22: Since 1950 the world nearly one-fifth of the top soil from its agricultural land and one-fifth
of its tropical forests.
A. is losing B. had been lost C. has lost D. was losing
Cau 23: People across the bridge could feel it swaying.
A. to have walked B. walking
C. walked D. to walk
Cau 24: Neil Armstrong, person to set foot on the moon, reported that the surface was fine and
powdery.
A. was the first B. as the first C. to be the first D. the first
Cau 25: Most of the people to the wedding banquet arrived late.
A. inviting B. whom were invited
C. who were invited D. who invited

V. GAP-FILLING: Read the passage. Choose the best answer (A, B, C or D) to complete the passage:

Although they are safe to use in the short term, coal, gas and oil present a long-term threat to the
environment. All three types of fossil fuels produce carbon dioxide in (26) greater quantities than
plants can use. The carbon dioxide then accumulates in the atmosphere and may even increase the earth's
'heat load' and lead to global rises in temperature. Furthermore, all three fossil fuels are (27)
forms of energy. Geothermal power is unlikely ever to be an energy source of major importance. It is
limited and is exploitable in only a few places. Wind power is a pollution-free source of renewable

energy but it cannot be used in many parts of the world where there is (28) wind. Solar power is
renewable, it does not cause pollution and it does not add to the earth's heat load. Unfortunately, solar
power is not distributed equally, and in the northern latitudes it is difficult to (29) and store. Solar

power also requires expensive equipment. Finally, nuclear power provides a very efficient and renewable
power source. However, not only is there a great danger of leaks or accidents but there is also the
problem of the (30) of radioactive waste.

Cau 26:
A. very B. every C. more D. far
Cau 27:
A. renewable B. non-renewed
C. renewed D. non-renewable
Cau 28:
A. unlimited B. insufficient C. nonexistent D. inefficient
Céau 29:
A. collect B. save C. gain D. pick

Page 2/4 - Code 921



Cau 30:
A. supply B. solution C. disposal D. influence

V1. READING:

The last two decades have seen enormous changes in the way people's lives are affected by IT. Twenty
years ago, few people had access to a computer whilst today most people use them at work, home or school
and use of e-mail and the Internet is an everyday event.

These developments have brought many benefits to our lives. E-mail makes communication much easier
and more immediate. This has numerous benefits for business, commerce, and education. The World Wide
Web means that information on every conceivable subject is now available to us. Clearly, for many people
this has made life much easier and more convenient.

However, not all the effects of the new technology have been beneficial. Many people feel that the
widespread use of e-mail is destroying traditional forms of communication such as letter writing, telephone
and face-to-face conversation. In addition, the huge size of the Web means it is almost impossible to control
and regulate. This has led to many concerns regarding children accessing unsuitable websites. In conclusion,
developments in IT have brought many benefits, yet | believe developments relating to new technology in
the future are likely to produce many negative effects that will need to be addressed very carefully.

Cau 31: In the last twenty years.
A. there have been dramatic changes in the field of computer science.
B. people’s lives have been changed a lot because of the invention of the computer.
C. the World Wide Web and e-mail communication have affected modern life.
D. there have been developments in telecommunications.
Céau 32: According to the passage, E-mail
A. can be checked quickly and easily.
B. reduces face-to-face contact.
C. takes a lot of time to transmit.
D. is used only in business.
Cau 33: The World Wide Web and e-mail communication
A. is destroying traditional customs.
B. have also been used for education purpose.
C. is difficult to get access to.
D. causes a busy and exciting life.
Cau 34: What does the IT stand for?
A. Information Theory B. Information Transmission
C. Information Technology D. Information Transfer
Céau 35: Which sentence is NOT mentioned?
A. The World Wide Web provides information.
B. The World Wide Web is difficult to control.
C. E-mail communication is quick and easy.
D. The World Wide Web is difficult to navigate.

VIl. ERROR RECOGNITION

Cau 36: Visitors were (A) not permitted entering (B) the park after dark because of (C) the lack of (D)
security and lighting.

Cau 37: His girlfriend, that (A) he trusted absolutely (B), turned out (C) to be an enemy (D) spy.
Cau 38: Radio stations at which (A) broadcast only news (B) first appeared (C) in (D) the 1970s.
Cau 39: When | came back (A) I realized (B) that my camera (C) had been disappeared (D).
Cau 40: It's(A) years since ( B) I last went (C) back to the town where (D) | was born in.
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B. WRITING:
VIIl. WORD FORM: Complete each sentence below by giving the correct form of the words given in
brackets.

Céau 41: The book itself is not expensive, but the is very high. (POST)

Cau 42: Electricity companies were criticized for failing to develop energy sources. (ALTERNATE)
Cau 43: All mail were suspended during the strike. (DELIVER)

Cau 44: She has been working on the project. (ENERGY)

Cau 45: We should not underestimate the of modern war. (DESTROY)

IX. TRANSFORMATION: Complete the sentences so that the meaning stays the same. Do not change
the word given. You must use between 2-6 words, including the word given.
Cau 46. The Queen Elizabeth is the largest ship which has been built on the Clyde. (HAVE)
- The Queen Elizabeth is the largest ship on the Clyde.
Cau 47. The company have been reviewing their recuitment policy for the last three months. (HAS)
- The company’s review for the last three months.
Cau 48. The waiter expected a large tip. He served us.(WHOM)
—> The waiter by expected a large tip.
Cau 49. Julian was last seen more than a fortnight ago. (MORE)
>t Julian was last seen.
Cau 50. Do you remember India ? We all visited it last year. (VISITED)

—> Do you remember India last year?

THE END
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PAP AN PE THI GIUA HQOC KY 2 - MON ANH VAN - KHOI 11
NAM HOQC: 2022-2023
A. MULTIPLE CHOICE

)
)

CAU MA PE 921 MA PE 922 MA PE 923 MA PE 924
1 C B C A
2 B A B C
3 B B A B
4 A D B D
5 D A D C
6 A D C C
7 B D C D
8 A C C C
9 D B B C
10 D B D D
11 C A B C
12 D B C C
13 B A C A
14 D C D B
15 B D B D
16 D C D B
17 C D D D
18 C A D B
19 B C C D
20 A D D B
21 C C B B
22 C D B A
23 B B D D
24 D C A B
25 C B C A
26 D C D C
27 D C A B
28 B B B D
29 A D C C
30 C B A C
31 C D D B
32 B D B A
33 B C B D
34 C C A D
35 D B C B
36 B D B D
37 A B A B
38 A D D D
39 D A D A
40 D A A A

B. WRITING
WORD FORM:
41: postage 42: alternative 43: deliveries 44: energetically 45: destructiveness

TRANSFORMATION:
46: to HAVE been built 47: recruitment policy HAS been under
48: WHOM we were served 49: is MORE than a fortnight since 50: ,which we all VISITED



